

Notes On Meromorphic Functions Defined By Polylogarithm

V.Srinivas^{#1}, P.Thirupathi Reddy^{*2}

Department of Mathematics, Govt. Degree College(W), Karimnagar-5005001.Telangana, India.
 Department of Mathematics, Kakatiya University, Warangal-506009 Telangana.

Abstract: In this paper we introduce and study a new subclass of meromorphic function with alternating coefficients involving the Polylogarithm function defined by a new operator $D_c f(z)$ and obtain coefficients estimates, growth and distortion and integral transforms.

MSC 2010 Classification: 30C45

Keywords and Phrases: Meromorphic, Polylogarithm, Coefficient estimates.

I. Introduction

Historically, the classical Polylogarithm function was invented in 1696, by Leibniz and Bernoulli, as mentioned in [3]. For $|z| < 1$ and c a natural number with $c \geq 2$, the polylogarithm function (which is also known as Jonquiere's function) is defined by the absolutely convergent series :

$$Li_c(z) = \sum_{k=1}^{\infty} \frac{z^k}{k^c} \quad (1.1)$$

Later on, many mathematicians studied the polylogarithm function such as Euler, Spence, Abel, Lobachevsky, Rogers, Ramanujan, and many others [4], where they discovered many functional identities by using polylogarithm function. However, the work employing polylogarithm has been stopped many decades later. During the past four decades, the work using polylogarithm has again been intensified vividly due to its importance in many fields of mathematics, such as complex analysis, algebra, geometry, topology, and mathematical physics (quantum field theory) [5-7]. In 1996, Ponnusamy and Sabapathy discussed the geometric mapping properties of the generalized polylogarithm [8]. Recently, Al-Shaqsi and Darus generalized Ruscheweyh and Salageean operators, using polylogarithm functions on class A of analytic functions in the open unit disk $U = \{z : |z| < 1\}$. By making use of the generalized operator they introduced certain new subclasses of A and investigated many related properties [9]. A year later, same authors again employed the n th order polylogarithm function to define a multiplier transformation on the class A in U [10]. To the best of our knowledge, no research work has discussed the polylogarithm function in conjunction with meromorphic functions. Thus, in this present paper, we redefine the polylogarithm function to be on meromorphic type.

Let Σ denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{k=0}^{\infty} a_k z^k, \quad (1.2)$$

Which are analytic in the punctured open unit disk

$$U^* := \{z : z \in \mathbb{C}, 0 < |z| < 1\} =: U \setminus \{0\} \quad (1.3)$$

A function $f(z)$ in Σ is said to be meromorphically starlike of order δ if and only if

$$\Re \left\{ -\frac{zf'(z)}{f(z)} \right\} > \delta; (z \in U^*), \quad (1.4)$$

for some $\delta(0 \leq \delta < 1)$. We denote by $\Sigma^*(\delta)$ the class of all meromorphically starlike order δ .

Furthermore, a function $f(z)$ in Σ is said to be meromorphically convex of order δ if and only if

$$\Re \left\{ -1 - \frac{zf''(z)}{f'(z)} \right\} > \delta; (z \in U^*), \quad (1.5)$$

for some $\delta(0 \leq \delta < 1)$. We denote $\Sigma_K(\delta)$ the class of all meromorphically convex order δ . For functions $f \in \Sigma$ given by (1.2) and $g \in \Sigma$ given by

$$g(z) = \frac{1}{z} + \sum_{k=0}^{\infty} b_k z^k, \tag{1.6}$$

we define the Hadamard product (or convolution) of f and g by

$$(f * g)(z) = \frac{1}{z} + \sum_{k=0}^{\infty} a_k b_k z^k \tag{1.7}$$

Let Σ_p be the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{k=0}^{\infty} a_k z^k; a_k \geq 0 \tag{1.8}$$

which are analytic and univalent in U^\bullet

Liu and Srivastava [11] defined a function $h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$ by multiplying the well known generalized hypergeometric function ${}_qF_s$, with z^{-p} as follows:

$$\begin{aligned} h_p(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) \\ = z^{-p} {}_qF_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) \end{aligned} \tag{1.9}$$

Where, $\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s$ are complex parameters and $q \leq s + 1, p \in \mathbb{N}$

Analogous to Liu and Srivastava work [9] and corresponding to a function $\Phi_c(z)$ given by

$$\Phi_c(z) = z^{-2} Li_c(z) = \frac{1}{z} + \sum_{k=0}^{\infty} \frac{1}{(k+2)^c} z^k \tag{1.10}$$

we consider a linear operator $\Omega_c f(z) : \Sigma \rightarrow \Sigma$ which is defined by the following Hadamard product (or convolution):

$$\begin{aligned} \Omega_c f(z) &= \Phi_c(z) * f(z) \\ &= \frac{1}{z} + \sum_{k=0}^{\infty} \frac{1}{(k+2)^c} a_k z^k \end{aligned} \tag{1.11}$$

Next, we define the linear operator $D_c f(z) : \Sigma \rightarrow \Sigma$ as follows :

$$\begin{aligned} D_c f(z) &= \left\{ \Omega_c f(z) - \frac{1}{2^c} a_0 \right\} \\ &= \frac{1}{z} + \sum_{k=1}^{\infty} \frac{1}{(k+2)^c} a_k z^k \end{aligned} \tag{1.12}$$

Let $M_c(\alpha, \beta)$ denote the class of function $f(z)$ in Σ satisfying the condition

$$\left| \frac{z^2 (D_c f(z))' + 1}{z^2 (D_c f(z))' + (2\alpha - 1)} \right| < \beta$$

for some $\alpha(0 \leq \alpha < 1), \beta(0 < \beta \leq 1)$,

and for all $z \in U$. We note that $M_0(\alpha, \beta) = \Sigma(\alpha, \beta)$

Let σ_A be the subclass of Σ which consisting of function of the form

$$f(z) = \frac{1}{z} + a_0 z - a_1 z^2 + a_3 z^3 - \dots, a_k \geq 0,$$

$$= \frac{1}{z} + \sum_{k=1}^{\infty} (-1)^{k-1} a_k z^k, a_k \geq 0 \tag{1.14}$$

and let $\sigma_{A,c}^*(\alpha, \beta) = M_c(\alpha, \beta) \cap \sigma_A$

In this paper, coefficient inequalities and distortion theorem for the class $\sigma_{A,c}^*(\alpha, \beta)$ are determined. Techniques used are similar to those of Silverman [13], Uralegaddi and Ganigi [14], Aouf and Darwish [1] and Aouf and Hossen [2]. Finally, the class preserving integral operators of the form

$$F(z) = \frac{s}{z^{s+1}} \int_0^z k^s f(t) dt \quad (s > 0) \tag{1.15}$$

is considered.

2. Coefficient Inequalities

Theorem 2.1. Let $f(z) = \frac{1}{z} + \sum_{k=1}^{\infty} a_k z^k$, if

$$\sum_{k=1}^{\infty} k(k+2)^{-c} (1+\beta) |a_k| \leq 2\beta(1-\alpha) \tag{2.1}$$

Then $f(z) \in \sigma_{A,c}^*(\alpha, \beta)$.

Proof. Suppose (2.1) holds for all admissible values of α, β and c . It suffices to show that

$$\left| \frac{z^2 (D_c f(z))' + 1}{z^2 (D_c f(z))' + (2\alpha - 1)} \right| < \beta \tag{2.2}$$

for $|z| < 1$. We have

$$\begin{aligned} \left| \frac{z^2 (D_c f(z))' + 1}{z^2 (D_c f(z))' + (2\alpha - 1)} \right| &= \left| \frac{\sum_{k=1}^{\infty} k(k+2)^{-c} a_k z^{k+1}}{2(1-\alpha) - \sum_{k=1}^{\infty} k(k+2)^{-c} a_k z^{k+1}} \right| \\ &\leq \frac{\sum_{k=1}^{\infty} k(k+2)^{-c} |a_k|}{2(1-\alpha) - \sum_{k=1}^{\infty} k(k+2)^{-c} |a_k|} \end{aligned}$$

The last expression is bounded above by β , provided

$$\sum_{k=1}^{\infty} k(k+2)^{-c} |a_k| \leq \beta \left\{ 2(1-\alpha) - \sum_{k=1}^{\infty} k(k+2)^{-c} |a_k| \right\}$$

which is equivalent to

$$\sum_{k=1}^{\infty} k(k+2)^{-c} (1+\beta) |a_k| \leq 2\beta(1-\alpha) \tag{2.3}$$

which is true by hypothesis

Theorem 2.2. A function $f(z)$ in σ_A is in $\sigma_{A,c}^*(\alpha, \beta)$ if and only if $\sum_{k=1}^{\infty} k(k+2)^{-c} (1+\beta) a_k \leq 2\beta(1-\alpha)$.

Proof. In view of Theorem 2.1 it suffices to show that the only if part. Let us assume that

$$f(z) = \frac{1}{z} + \sum_{k=1}^{\infty} (-1)^{k-1} a_k z^k \quad (a_k \geq 0)$$

is in $\sigma_{A,c}^*(\alpha, \beta)$. Then

$$\left| \frac{z^2 (D_c f(z))' + 1}{z^k (D_c f(z))' + (2\alpha - 1)} \right| = \left| \frac{\sum_{k=1}^{\infty} (-1)^{k-1} k(k+2)^{-c} a_k z^{k+1}}{2(1-\alpha) - \sum_{k=1}^{\infty} (-1)^{k-1} k(k+2)^c a_k z^{k+1}} \right| < \beta$$

for all $z \in E$. Using the fact that $\operatorname{Re} z \leq |z|$ for all z , it follows that

$$\operatorname{Re} \left\{ \frac{\sum_{k=1}^{\infty} (-1)^{k-1} k(k+2)^{-c} a_k z^{k+1}}{2\gamma(1-\alpha) - \sum_{k=1}^{\infty} (-1)^{k-1} (2\gamma-1)k(k+2)^{-c} a_k z^{k+1}} \right\} < \beta \tag{2.4}$$

Now choose the values of z on the real axis so that $z^2 (D_c f(z))'$ is real. Upon clearing the denominator in (2.3) and letting $z \rightarrow -1$ through real values, we obtain

$$\sum_{k=1}^{\infty} k(k+2)^{-c} a_k \leq \beta \left\{ 2(1-\alpha) - \sum_{k=1}^{\infty} k(k+2)^{-c} a_k \right\}$$

which is equivalent to

$$\sum_{k=1}^{\infty} k(k+2)^{-c} (1+\beta) a_k \leq 2\beta(1-\alpha).$$

This completes the proof of Theorem 2.2

Corollary 2.1: Let the function $f(z)$ defined by (1.14) be in the class $\sigma_{A,C}^*(\alpha, \beta)$

$$a_k \leq \frac{2\beta(1-\alpha)}{k(k+2)^{-c}(1+\beta)} \quad (k \geq 1)$$

Equality holds for the function of the form

$$f_k(z) = \frac{1}{z} + (-1)^{k-1} \frac{2\beta(1-\alpha)}{k(k+2)^{-c}(1+\beta)} z^k$$

3. Distortion Theorems

Theorem 3.1. Let the function $f(z)$ defined by (1.14) in the class $\sigma_{A,C}^*(\alpha, \beta)$ then for $0 < |z| = r < 1$,

$$\frac{1}{r} - \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} r \leq |f(z)| \leq \frac{1}{r} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} r \tag{3.1}$$

with equality for the function

$$f(z) = \frac{1}{z} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} z \quad \text{of } z = r, ir \tag{3.2}$$

Proof. suppose $f(z)$ is in the class $\sigma_{A,C}^*(\alpha, \beta)$. In view of Theorem 2.1, we have

$$3^{-c}(1+\beta) \sum_{k=1}^{\infty} a_k \leq \sum_{k=1}^{\infty} k(k+2)^{-c}(1+\beta) a_k \leq 2\beta(1-\alpha)$$

which evidently yields

$$\sum_{k=1}^{\infty} a_k \leq \frac{2\beta(1-\gamma)}{3^{-c}(1+\beta)} \tag{3.3}$$

Consequently we obtain

$$|f(z)| \leq \frac{1}{r} + \sum_{k=1}^{\infty} a_k r^k \leq \frac{1}{r} + r \sum_{k=1}^{\infty} a_k \leq \frac{1}{r} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} r,$$

by (3.3) . This gives the right –hand inequality of (3.1)

Also. $|f(z)| \geq \frac{1}{r} - \sum_{k=1}^{\infty} a_k r^k \geq \frac{1}{r} - r \sum_{k=1}^{\infty} a_k \geq \frac{1}{r} - \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} r,$

By (3.3), which gives the left hand of side of (3.1).

It can be easily seen that the function $f(z)$ defined by (3.2) is external for the theorem.

Theorem 3.2: let the function $f(z)$ defined by (1.14) be in the class $\sigma_{A,c}^*(\alpha, \beta)$, then for $0 < |z| = r < 1$,

$$\frac{1}{r^2} - \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} \leq |f'(z)| \leq \frac{1}{r^2} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} \tag{3.4}$$

The result is sharp the external function being of the form (3.2)

Proof . From Theorem 2.1 we have

$$3^{-c}(1+\beta) \sum_{k=1}^{\infty} k a_k \leq \sum_{k=1}^{\infty} k(k+2)^{-c}(1+\beta) a_k \leq 2\beta(1-\alpha)$$

which evidently yields

$$\sum_{k=1}^{\infty} k a_k \leq \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} \tag{3.5}$$

Consequently we obtain

$$|f'(z)| \leq \frac{1}{r^2} + \sum_{k=1}^{\infty} k a_k r^{k-1} \leq \frac{1}{r^2} + \sum_{k=1}^{\infty} k a_k \leq \frac{1}{r^2} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)}$$

Also

$$|f'(z)| \geq \frac{1}{r^2} - \sum_{k=1}^{\infty} k a_k r^{k-1} \geq \frac{1}{r^2} - \sum_{k=1}^{\infty} k a_k \geq \frac{1}{r^2} - \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)}$$

This completes the proof of theorem 3.2

Corollary 3.1: Let the functions $f(z)$ defined by (1.14) be in the class

$$\sigma_{A,c}^*(\alpha, \beta) = \sigma_{A,0}^*(\alpha, \beta), \text{ then for } 0 < |z| = r < 1,$$

$$\frac{1}{r^2} - \frac{2\beta r(1-\alpha)}{(1+2\beta\gamma-\beta)} \leq |f^1(z)| \leq \frac{1}{r^2} + \frac{2\beta\gamma(1-\alpha)}{(1+2\beta\gamma-\beta)}$$

The result is sharp.

Putting $c=0$ and $\beta = 1$ in theorem 2.1, we get

Corollary 3.2. Let the functions $f(z)$ defined by (1.14) be in the class $\sigma_{A,C}^*(\alpha, 1) = \sigma_{A,C}^*(\alpha)$,

$$\text{then for } 0 < |z| = r < 1, \quad \frac{1}{r^2} - (1 - \alpha) \leq |f'(z)| \leq \frac{1}{r^2} + (1 - \alpha).$$

The result is sharp.

4. Class Preserving Integral operations

In this section we consider the class preserving integral operators of the form (1.15)

Theorem 4.1: let the function $f(z)$ defined by (1.14) be in the class $\sigma_{A,C}^*(\alpha, \beta)$, then

$$F(z) = s z^{-s-1} \int_0^z t^s f(t) dt = \frac{1}{z} + \sum_{k=1}^{\infty} (-1)^{k-1} \frac{s}{s+k+1} a_k z^k, s > 0$$

belong to the class $\sigma_{A,C}^*(\lambda(\alpha, s), \beta)$ where

$$\lambda(\alpha, s) = 1 - \frac{s(1-\alpha)}{(s+2)} \tag{4.1}$$

The result is sharp for

$$f(z) = \frac{1}{z} + \frac{2\beta(1-\alpha)}{3^{-c}(1+\beta)} z$$

Proof : Suppose $f(z) \in \sigma_{A,C}^*(\alpha, \beta)$, then

$$\sum_{k=1}^{\infty} k(k+2)^{-c} (1+\beta) a_k \leq 2\beta(1-\alpha)$$

In view of theorem 2.1, we shall find the largest values of λ for which

$$\sum_{k=1}^{\infty} \frac{k(k+2)^{-c} (1+\beta)}{2\beta(1-\lambda)} \frac{s}{s+k+1} a_k \leq 1$$

It suffices to find the range of λ for which

$$\frac{sk(k+2)^{-c} (1+\beta)}{2\beta(1-\lambda)(s+k+1)} \leq \frac{k(k+2)^{-c} (1+\beta)}{2\beta(1-\alpha)}$$

Solving the above inequality for λ we obtain

$$\lambda \leq 1 - \frac{s(1-\alpha)}{(s+k+1)}$$

Since

$$\psi(k) = 1 - \frac{s(1-\alpha)}{(s+k+1)}$$

is an increasing functions of $k (k \geq 1)$, letting $k=1$ in (4.2) we obtain

$$\lambda = \Psi(1) = 1 - \frac{s(1-\alpha)}{(s+2)}$$

and the theorem follows at once.

REFERENCES

- [1] M. K. Aouf and H. E. Darwish, Meromorphic starlike univalent functions with alternating coefficients, *Utilities Math.* 47(1995), 137-144.
- [2] M. K. Aouf and H. M. Hossen, Meromorphic starlike functions of order α with alternating coefficients, *Rend .Sem. Math.* 94(1992), 221-230.
- [3] C. I. Gerhardt and G.W. Leibniz, *Mathematische Schriften III/1*, Georg Olms, New York, NY, USA, 1971.
- [4] L. Lewin, *Polylogarithms and Associated Functions*, North- Holland, Oxford, UK, 1981.
- [5] A. B. Goncharov, "Polylogarithms in arithmetic and geometry", in *Proceedings of the International Congress of Mathematicians*, pp. 374–387, Z'urich, Switzerland, 1994.
- [6] L. Lewin, "Structural properties of polylogarithms, math, surveys and monographs", *American Mathematical Society*, vol. 73, 1991.
- [7] S. Oi, "Gauss hypergeometric functions, multiple polylogarithms, and multiple zeta values", *Publications of the Research Institute for Mathematical Sciences*, vol. 45, no. 4, pp. 981–1009, 2009.
- [8] S. Ponnusamy and S. Sabapathy, "Polylogarithms in the theory of univalent functions", *Results in Mathematics*, vol. 30, no. 1-2, pp. 136–150, 1996.
- [9] K. Al Shaqsi and M. Darus, "An operator defined by convolution involving the polylogarithms functions", *Journal Of Mathematics and Statistics*, vol. 4, no. 1, pp. 46–50, 2008.
- [10] K. Al-Shaqsi and M. Darus, "A multiplier transformation defined by convolution involving nth order polylogarithm functions", *International Mathematical Forum*, vol. 4, 1823–1837, 2009.
- [11] J. Liu and H.M. Srivastava, "Classes of meromorphically multivalent functions associated with the generalized Hypergeometric function, "Mathematical and Computer Modelling", vol. 39, no. 1, pp. 21–34, 2004.
- [12] J. E. Littlewood, "On inequalities in the theory of functions", *Proceedings of the London Mathematical Society*, vol. 23, no. 1, pp. 481–519, 1925.
- [13] H. Silverman, "Univalent functions with negative coefficients", *Proc. Amer. Math. Soc.* 51(1975), 109-116.
- [14] B. A. Uralegaddi and M. D. Ganigi, "Meromorphic starlike functions with alternating coefficients", *Rend. Math.* 11(7) (1991), 441-446.